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John borrows $8,500 for 5 years at an interest rate of 6%. How much money has he paid out
in monthly loan payments by the end of the loan? (Use tables or use a bank website or an App
if you know how). Round to the nearest $20
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4.00% $85.15| $43.42| $29.52| $22.58| $18.42| $15.
4.25% $85.26| $43.54| $29.64| $22.69| $18.53| $15.
4.50% $85.38| $43.65| $29.75| $22.80| $18.64| $15.
4.75% $85.49| $43.76| $29.86| $22.92| $18.76| 515
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5.75% $85.95| $44.21| $30.31| $23.37| §19.22| $16.
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Loan amount

: Whet. we use cn
$8,500 Any Bank Website n"ulf'r" :::c'}L I:laﬂ.

Enter the total amount you want to borrow. TVM
Payment frequency Ca | cu | ator
Monthly

Mode @End () Beginning

How often would you like to make payments?

IPresent value |8,500

Interest rate

H Payments -164.33 )

Enter an interest rate.

Future Value 0

Amortization

Annual Rate 6
S years (%)

Periods |60

Your estimated monthly loan payment

Compounding | Monthly




Solve for length x in the right angle triangle ©  Solve for Length x
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Solve for side ¢ using the Cosine Law *
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Solve the triangle using the Sine Law. Round your
answer to the nearest 0.01
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Two hot dogs and a coke costs $11.50. But two hotdogs plus
two cokes costs $13.00. How much does a hot dog cost?
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Two hot dogs and a coke costs $11.50. But two hotdogs plus
two cokes costs $13.00. How much does a hot dog cost? Q a_ﬂ
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We did some of that in Grade 11 when Graphing Linear
Patterns & (v |2 prh;eg[
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Janice just finished her math course. She has had four quizzes and a final exam. On her
quizzes she had scores of 65%, 72%, 85%, and 20%. The final exam has a triple weight factor

(x3) compared to a regular quiz. On her final exam she got a 42%. Her final course mark will
be: (Best or closest answer)

gl
@ ? - ix; B ouch '
(Je LﬁLf.Eﬂl Zbd .E ‘Z/

— 6% +3s} +85¢) +30q +H18%
o P4l L& 43

60.5% 36%_ = 5&.5:}?0
=/537, hest

C|osest
GnsSu ey

'

Pass at some schools is 70%!!



Brian wrote an Entrance Exam for a prestigious course. Only the top 20% of applicants are

accepted. Mark got 56 out of 80 on the exam. He got a $300 speeding ticket coming to the
exam. 260 applicants wrote the exam. Brian plus two others had the same Exam score, and

180 applicants had a score lower than Brian.

Determine Brian's Percentile Rank
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Determine the mean of the following data set:
{5,5,5,7,.812,6,4}
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BONUS QUESTION. Determine the measure of angle A.
(Extra 2 marks if you need them)
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